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I — IR FE (ax+tby=c)

W44

6x— 4y =-2
Tx+ 3y =36

Tx— 3y =39
Sx—6y=-3

Tx—Ty=0
Tx— 8y =—T7

2x+ 2y =12
4x + 6y = 26

H #A: pan

Sx+ 8 =77
3x+ 8y =175

4x+ 2y =18
4x+ 7y =153

Sx+5y=285
6x — 2y =38

& — 8y =48
3x+ 8y =40
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SOBLG

It FER (ax+by=c)

G2
6x— 4y =-2
Tx+ 3y =36
x=3
y=2>5
3. _
Tx— 3y =39
5x— 6y =-3
x=9
y=2_8
Y =Ty =0
Tx— 8y =-7
x=17
y="7T
7. _
2x+ 2y =12
4x+ 6y =26
x=35
y=1

H 1.

Sx+ 8y =77
3x+ 8y =75

x=1
y:

4x + 2y= 18
4x+ 7y =153

x=1
y:

Sx+5y=285
6x— 2y =38
9
8

X
y

8x — 8y =48
3x+ 8 =40

x=28
y=2
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